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@ ‘ é Berechnen Sie die Prozentzahlen der Zahlen

Name: Datum: Ergebnis:
53 x30% = 94 x70% =
68 x 80% = 60 x 50% =
8 x 20% = 86 x 50% =
12 x 80% = 56 x90% =
94 x 50% = 64 x 40% =
39 x70% = 43 x 90% =
37 x40% = 75 X 40% =
3 x40% = 11 x 70% =
74 x 50% = 65 x 70% =
21 x 80% = 8 x 60% =
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Cléese

Berechnen Sie die Prozentzahlen der Zahlen

Name:

53 x30% = 15.9

68 x 80% = 54.4

8x20% = 1.6

12 x 80% = 9.6

94 x 50% = 47

39 x70% = 27.3

37 x40% = 14.8

3x40% = 1.2

74 x 50% = 37

21 x 80% = 16.8

Datum: Ergebnis:

94 < 70% = 65.8

60 x 50% = 30

86 x 50% = 43

56 x 90% = 50.4

64 x 40% = 25.6

43 x 90% = 38.7

75 x40% = 30

11 x70% = 7.7

65 x 70% = 45.5

8 x 60% = 4.8
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